E32@ikikS. GiRFIE
29118128

T T
=42 K 4 P I [[=Fiva K 4 FF IV
3P O & 8k INTE 4 33.02 HENH]E:D theg 2 24.68
6| PN 7 i INE 4 34.12 3|/NEF il A BB e i 25.98
14|f2[RIAE /N 5 37.97 7| EE@ L theg 2 26.90
15[ /NEp 5 50 INF 5 38.34 23|52 BB 4 theg 2 30.24
28|5HEE INTE 4 40.72 31(5€HAE theg 32.14
30| hifl—ER INE 3 41.18 R B
32|Fk R = Rk INE 3 42.08 [[=Fiva KE 4 FF aC  #%
34|ATH R I INTE 4 42 81 2|/M U5 FH the 2 24.28
35| LA 2 Ak INTE 4 43.01 3|/NEr el A B he 1 26.08
36|HEHE INTE 3 43.11 7| EEE L he 2 26.69
38(;th O ¥A % INFE 3 4341
39] /)11 B8 g4 | 4382
0|FERF INE 3 44.40 ¥
45/f8H 15 INE 3 50.50 [[=Fiva K 4 FE E
i 4|F9 O 48 5% INE 4 1:12.45
JIE iz K 4 FiF I R B
3|P9 O {2 &k INTE 4 32.72 [[1=8vi K £ I I
6| N E%iE INTE 4 33.49 4P O 8k INTE 4 1:13.39
T B3
[[=}iva K 4 P 6 E% & 22 K £ FF e E%
1|5 BB thg 1 27.82 AN E 2D hF 2 54.20
211& 5 h2 1 28.05 3|/NEF il A B = 1 56.80
17[/NEB B INE 6 33.65 8| L EHEIL theg 2 59.50
32|iHEES INTE 6 38.49 9| P9 O P55k thig 2 1:00.47
iR B R B
=4 iva K 4 FF e &% [[=fiva K 4 FF A %
1|5 B the 1 27.95 2|/M U5 FH he 2 53.12
ARV theg 1 28.11 3|/NEF i A BR hZ 1 56.40
7| E BRIt hig 2 59.82
A LR B
[[=Fiva K 4 FF E

1P 0Lk INTE 4 2:41.02




13¥~14F B+ 200m BHHF

A LR B
[[zfiva K 4 P i E%
4( /Ny e A B Sele 2:05.36
T
[[z{iva K 4 P EV I
7|$8 R iE & INFE 5 44.77
10|EEEE INZE 4 46.26
14| INEF RS INE 5 47.22
20| HH =i — B} INFE 3 49.92
21| B 2Rk INTE 4 49.97
24| A ehiEE INEE 3 50.64
25| Fk [ 22 Ak INE 3 51.56
7|fERIEE INFE 5 43.48
1HF¥~12F BF 50m HikFE
T
[[=fiva K 4 FF 0 8%
1|5 B th= { 30.55
R B
[[=4iva K 4 P TV <
1|5 BB th= 1 30.38
FiE
[[=4iva K £ P i E%
10| SR BB {E the 2 34.33

15FLLE BF 50m FHFikFE

13F~14F BF 100m HikZFE

¥

& 3z K 4 P I
2|/NEF i, A B h 1 1:06.78
13| R EE{E he 2 1:16.89

R

[[=Fiva K 4 P a0 %
2|/NEF I, R B h 1 1:04.89

15FLlE BF 100m HFikFE

g3

JIE iz K 4 FiF VI
i i% h& 3 1:08.10

15FLlE BF 200m HikE

A LR

& iz K 4 FF e &%
2|57 % FF th= 3 2:26.18

OF ~10F EBF 50m FikZF

TFiE
=Ry K 4 FF a0 8%
45 % th= 3 31.37
RS
(=R ivi K 4 P I -
4|7 % e 3 31.14

OF~10F BF 100m HikFT

BA LR
(=R v2 K e < o3 2 R
3| A % INTE 4 1:31.35

T
[[=Fiva K 4 FF e #%
4|t R K INTE 5 47.96
o[/ NEF S FT) INFE 5 51.22
19|;th O ¥R 5% INE 3 57.20
0| RER INEE 3 1:06.33
P
[[=Fiva K 4 FF IV
4|t2R i & INSE 5 46.86
MF~12F% BF 50m Fik&F
B3
& iz K 4 FF IV
3|i%i% G th 1 38.88
4{ B XK INSE 6 39.05
5(/INE BE A INE 6 39.43
18|/ HEEZ INE 6 49.72
19| 5 EHE INE 5 50.65
iR B
[[=Fiva K 4 FF e E%
3|5 %A Rz 1 38.03
4 H KK INSE 6 38.34
571N B EE Ay INE 6 39.34




1MF~12F B+ 100m HikE 13F~14F BF 50m FikF

B4 LR B B
=42 K 4 P VI [[=Fiva K 4 P EV
1|5 BT theg 1 1:05.80 9| 45 H 4. hZ 39.67
54 LAB
TiE [[=Fiva K 4 FF i g%
[[Z}iva K 4 I VI 1{E kS Rz 1 1:08.97
3|H KA INZE 6 1:23.63 UE 3 h 1:23.25
4(/NEBBEEST INE 6 1:27.06
R TiE
[[z{iva K 4 FF 6 8% [[=Fiva K 4 FF VI
2| B INE 6 1:23.31 5/F9 O B3 8% hig 2 1:04.85
4|5 % E th=e 1 1:24.21 R
5|71V B EE 4 INE 6 1:25.95 [[=Fiva K £ F4F VI
49 O [z 3% the 2 1:03.80

13F ~14F BF 200m FikF

51 LR
[[=fiva K 4 FF I BA LR B
6| 5 HH 44 h 1 3:09.45 [[=Fiva KE 4 FF EV 4
1|9 O 5L theg 2 2:20.54
OF ~10F BF 50m /\ 2754
TFiE 11F~12F BF 200m EAAFL—
[[z4iva K 4 FF E A LR Bk
4| A % INTE 4 37.52 [ v K £ - iz i %%
14|AEE INE 3 49.95 1|5 BB h 1 2:25.82
R 2|1k ik hZF | 2:29.09
[[=fiva K £ FF E I
4| P9 7% INTE 4 37.43 13F~14F BHBF 200m EAARL—
A LR
1HF~12F BF 50m /\3T754 [[=Fiva KE 4 FF 6 &%
TiE 1[N L5 3 Rz 2 2:14.90
=42 K 4 FF 0 §% 6| & H &l =+ thee 2 2:22 22
1|{E & the 1 30.03 19| 5 H 44 thee 1 2:57.39
5H KA INTE 6 35.02
R A LR B
[[=Fiva K 4 P e #% [[=Fiva K 4 E( #H
1|{E B thzg 1 29.61 1. PO
5/ H A INFE 6 35.78 2. Nk
6|5 %M 1 35.88 - 3. fRIRIAE el 1
4. INETEE Y]




13F ~14F BF 50m /\3754

TiE
=42 K 4 FE G #%
1|/MLUBZFS thee 2 27.74
7\/F9 O 58K theg 2 29.42
i
=42 K 4 FE G &%
1|/MLUBZFS thee 2 27.47
7\/F9 O 53K theg 2 28.97
13F~14F BHBF 200m 7')—1L—
A LR
[[=fiva K 4 aC % #H
1. \NEFIEL K BR
2. FAOEEE
2 2 ML 1:43.23 1
4. L HRIL
15FLLE B+ 200m 2V)—1)L—
A LR B
[[=fiva K 4 a0 E% #H
1. 7%
2. REAEE{E
6 Y 2:01.79 1
4. SEE1E
A LR B
[[={iva K 4 a0 &% #H
1. P23k
2. fRlR A E
23. AT 2:39.69 1
4. INBPEEFT)

1F~12F BF 200m AFL
BA LR B

_I) l/_

N

K 4

%

?'Ill.lll

1. S H#B

2. /NS

3. k%

4. B

2:10.33

MF¥~12F 5+ 200m J')—L—

A LR B
[[=Fiva K 4 i B i
1. kS
2. S H#BI
2 3 AR 2:00.18 1
4. INBEESY
9F¥~10F X+ 50m BHF
g3
[[=Fiva K 4 FF aC %
6|81 )11 28 %0 INFE 5 34.56
10|M= B3 INTE 4 35.89
14| R B INTE 4 38.40
19|EEEHBTE INSE 3 39.08
23 FIREBER INE 3 39.83
24| )1 p RFE INTE 3 40.35
28| HAYE INE 3 41.67
32|18l tiE INTE 4 43.84
34| L EFEES INFE 3 45.05
iR B
BRI | K 4 FHF | &8 &
5811128 %0 INFE 5 33.81
Big: ]
[[={iva K 4 P EV
4P O$ER h 30.74
8|1t H A 157+ INEE 6 31.10
9| 8 A& 5 R 1 31.23
12[ I P5E INE 6 32.32
14| /NEFhi 3 h 32.75
20| EEEE INE 6 34.08
22| R EF A INTE 5 35.48
30| B8 A 5 F INTE 5 38.81
R
JIiE {32 K 4 FHE |8 &
3PSO 5 the 1 30.47
1| TEHATEH INTE 6 30.95




13F¥~14F X+ 50m EHHEW

13F¥~14F B+ 200m ARL—YL—

A LR g3
[[=fiva K £ El #H (=R v K 4 FF E
1. /NEFIRLKBR 1| 8] 1L 98l 3= th= 3 27.63
2. AL 2| 5K R ME the 1 29.66
1 2 FIOBL 1:56.91 1 Y™
4. IINLUSH & {32 K £ FHE | &8 &
1| FE] 1L el 3% = 3 27.68
4| 7508 R ME the 1 29.76
B4 LR
& {32 K 4 FF G &%
RGP RS INFE 5 1:15.15
T Tk
=42 K 4 P VI (=R iva K £ FF aC %
4| P8 K& 5 h 1 1:06.47 6|U'E &Y INE 4 44.19
5/ P9 Q&R th2g 1 1:06.98 13()I=FE INE 3 47.74
11| LEEFE INE 6 1272 16|FREH B 1E INE 3 49.90
R B 18| LB IES INE 3 50.34
IBhZ| K 4 FE | BB &) 19 hESIE INEE 3 51.54
4|5 K& 5 theg 1 1:06.95 21| FIREERE INEE 3 52.83
5|F9 0 #5m theg 1 1:07.49 R
Bz K 4 FHE | B &
mEmE | e | aaz
T
[[=fiva K A P E - 1F¥~12F% XF 50m FHikE
1| FE] L e, 3% th= 3 59.88 T
SEIUR Rz 1 1:06.09 [[=Fiva K 4 FIF I
6| & R & ME thEg 1 1:06.56 4| TEH H13H INE 6 35.88
R B I EEFEE INZ 6 39.58
IBGz| & 4 FE | B8 & iR B
1] [ Ll g, 2= e 3 1:00.42 & 32 K & S E
6|75 R R ME the 1 1:07.10 A TEH AL H INE 6 35.60
Ui th2g 1 1:07.19 6| LEER INTE 6 38.63
A LR B A LR
=42 K 4 P EI 5 JIiE 22 K 4 P EI
2|5 EF0 INE S 2:40.85 5|75 K & ME hZ | 38.17
A LR B A LR B
[[=}iva K 4 FEF E =Ry K 4 P E
2| P8 A& 5 hzg 1 2:22.38 3|RITJIIAE N INE 5 1:28.31
3IF9O£5R th& 1 2:25.79




13F ~14F Z+F 200m BEHF

A LR

[[=Fiva K 4 P VI
1| R L e & th= 3 2:09.34
5| RirJ 1 B0 hZg 1 2:22.09

OF ~10F HEF 50m FikFE

MF~12F% ZF 100m HikFE

i

[[=Riva K 4 P ET >
3|TEH A5+ INE 6 1:16.63

R B

IBhi| K 4 FHE | & #%
4| TEFH A1EH INTE 6 1:17.01

13F ~14F ZF 100m FHikFE

B4 LR

[[=Riva K 4 P EV
3|RITJI AN hZg 1 1:19.27

13F ~14F ZF 100m FikFE

¥
JIiE {32 K 4 FF e %
2| E H < AR h | 1:24.35
R B
(=R iva K 4 = . #%
1| B ER the | 1:21.91

13F ~14F ZF 200m FikFE

TiE
[[=Fiva K 4 FF IV
UGS INTE 4 49.57
131l FRFE INFE 3 53.56
14 FIREER INE 3 55.25
iR
=42 K 4 P E
8| &R M, INTE 4 49.15
FiE
[[=fiva K 4 P AL B%
25 INZE 6 39.40
6|F9 O #5Mm h= 1 41.28
13| B+ INFE 5 48.29
R
=42 K 4 FEF G  ®%
2|1 P55 INE 6 38.43
6|9 O %5 Rz 1 40.85

13F ~14F ZF 50m FkFE

FiE
& 2 K 4 P E
2| E A< AR th 1 38.91
iR B
[[=fiva K 4 P E
2| H < &R b= 1 38.01

A LR
(=R iva K 4 FF i &%
2| E H 1< AR the 1 2:57.44
B3
(=R v K 4 FF aC %
7= B INTE 4 40.50
19FHAIE INE 3 48.50
2015 )11t INSE 4 49.69
R B
(=R iva K 4 I EI
7\ = B3 INTE 4 39.48

1MF~12F ZF 50m /\3T754

Tk

[[=fiva K 4 FF I
5| P8 A &[5 theg 1 34.67
6|/NErhi 3 hZg 1 34.79

R B

[[={iva K 4 FIF i
6| P8 A& 5 the | 34.66
8|/NEFhk g 1 35.39




OF~10F ZF 100m FExkF

A LR
JE{:Z K e P ER 1
6|75 BN, INTE 4 1:48.91

1MF~12F% ZF 100m FkFE

FiE

[0 K 4 FAF RC &%
LGRS INZE 6 1:25.54
6| Fk £ & D INZE 5 1:30.59
8| B8 i %5 INFE 5 1:42.90

R

[[=fiva K A P C &%
1 I PPEE INZE 6 1:24.44
5|k B 1 INFE 5 1:28.43
8| B8 [ %5 INFE 5 1:39.35

13F ~14F Z+F 100m /\3754

A LR B

& {2 K 4 FF 0 E%
1| R L i 3 hZg 3 1:05.22

1MF~12F ZF 200m BEAARL—

A LR %

[[=fiva K £ P EV
o[ /NEFH R hZ 1 2:51.28
10| FRES INE 5 2:58.80

13F ~14F &+ 200m EAARL—

FA LR B

JE iz K 4 P BC  ®%
QENLLER! th= 1 2:47.23

90F ~10F ZF 200m J)—lL—
54 LR B

IR K 4 aC  EX i

1. gl Z8#0
2. U= H3H
3 .,SEE* 2:2558 1
3. HIREM

4. REBTE

13F ~14F Z+F 50m /\3275A
T

(=R iva K 4 FF
9| E H 1< &R R 1 35.01

Il!lll-lll
i

9F ~10F ZF 100m /\3T754

BA LR
B | K £ PE | B &)
5(p0 = gy £U INE 4 1:35.80

1MF~12F ZF 100m /\3T754

A LR

& 22 K 4 FIF iC %
6|/MEF iR h=g 1 1:22.41

11F~12F ZEF 200m AFL—YL—

A LR B

=R 2 K £ i E% |

1. TEHHEH

2. Il EZE
2:18.63 1

T3 mrEs

4. FAO$ERE

13F ~14F ZF 200m AFL—YL—
A LR Bk

=42 K £ 0 % i
1. BB FD
2. REHKER
3. [if] LLifE 2
4. B R ME
©2017 @ EBAEE AN B ARKIKER

2:13.93 1




1MF¥~12F xR+ 200m 2!)—1)L—

A LR
[[z4iv2 K 4 ac  #%
1. F0#Em
2. INEFAR R ,
2 X ITT 2:03.67
4. TEFHH14H

13F ~14F %X+ 200m 2')—L—

A LR B

[[:Riva K 4 Eo R
1. (B L3
2. TR R ME
"3 g o
4. FHKER

A LR B

[[=Riva K 4 ic 8%
1. gl A2 #D
2. SR BN ,
4&m5m¥ 2:51.93
4. REBTE




